S H
— Y _
H “=4T3
Sy h
B Yo =y =B+5
H-2=h=8
5 10
xG=7=5cm
B 10 — 2
Vg =2+ > = 6bcm
H =10cm,B = 2cm

(H=5B)

Al



] | Vg = 6cm Aﬂ

P Jig = Ux1 + A1d?) + (o + A2d3) + (Jy3 + A3d$)

HB3

22 4 (HB) — =2 4 500'= 506.67cm*
12

h3
H-2=h=8 EVA + (Bh)(0)? = 85.33cm*

HBS+(HB) i 82—50667 4
12 2 5 = . cm

+—>

B

Jx; = 506.67 + 85.33 + 506.67 = 1098.67cm*

2

H =10cm,B = 2cm
(H=5B) (analogamente per il calcolo di J, )



A

H =10cm,B = 2cm
(H=5B)

v

YG = bcm Aﬂ.

B Jxe = "pieno” — "vuoto”
3
A0+28) — 1440cm*
N (g — B) h?
H-2=h=8 2 = = 341cm*
B

Jx, = 1440 — 341 = 1099c¢m*

(analogamente per il calcolo di J )



+—>

B

H =10cm,B = 2cm
(H=5B)

A=A, +A, = (BH) + (BH)
Sx1 = (BH)y, = (BH)%
Sea = (BH)y, = (B10) (1 + 5

S, (2-10)(5) +(2-10)(10 + 1)

Y6 = T 2-(2-10)

_(20-5)+(20-11) _ 320

40 =0 _oem 4

(analogamente per il calcolo di J )



=38
H | e A2

|° Jig = Ux1 + A1df) + (Jyz + A,d35)

/

BH
BT + (BH)(yg — y51)* =

6.67 +180 = 346.67cm*

HB3 B 2 4
- + (HB) > + (H — yG) = 6.67 + 180 = 186.67cm

+—>

B
o 10em B — 2em Jxg = 346.67 + 186.67 = 533.34cm*

( H=5B ) (analogamente per il calcolo di J )



le + sz + ZSX3
A + 4, + 24,

H : yG:% Ag
R Sy
A

G =

A =24, + 24,

H
Sx1 = (BH) - = 100cm?

B
Sv>; = (BH) (H + E) = 220cm?3

BS
Sy = (BBYys = BB)2 =2 = acm?

S, _ 100 +220+2-(2-2)(1) _320+8 328

Y6 =g T 40+2-(2-2) 40+ 8 48
= 6.83cm

H =10cm,B = 2cm
(H=5B)



] | Ve = 6.83cm Ag

1B Jxg = U1 + A1d7) + Uy + A2d5) + 2(J,3 + A3d3)

BB 2 4
2 +(BB) (y —2) =133+ 135.96 = 137.28cm

Jx; = 233.64 +354.44 + 2 -137.28 = 862.67cm*

7

H =10cm,B = 2cm
(H=5B) (analogamente per il calcolo di J, )



+—>

B

H =10cm,B = 2cm
(H=5B)

A4

S _ le + sz + ZSX3

YG—Z
X
A AL+ A, + 245

G =

A =24, + 24,
S = (BH)% = 100cm3

B
S«z = (BH) (H + E) = 220cm?

5= (825) 3, = (287)2 = 26° = sem

S 100+220+2-6 320+12 332

Y6 = AT T 40+2-(6)  40+12 52
= 6.38cm




] Yo = 6.38cm A@}

Jxg = Uxr +A1d5) + (xz + A2d5) + 2(Jy3 + Azd3)

+—>

B

Jx; = 204.75 + 433.55 + 2 - 175.67 = 989.64cm*

9

H =10cm,B = 2cm
(H=5B) (analogamente per il calcolo di J, )



+—>

B

H =10cm,B = 2cm
(H=5B)

Sx
Yo =—F =

A

AS

S _ le + sz + ZSX3

YG—Z
X
A AL+ A, + 245

G =

A =24, + 24,
S = (BH)% = 100cm3

B
Sv>; = (BH) (H + E) = 220cm3

«3 = (B 2B)ys = (232)2 = B3 = 8cm?3

100+220+2-8 3204+16 336
= = bcm

40+2-(8)  40+16 56

10



’ : Y = 6cm AS

Jxg = Uxr +A1d5) + (xz + A2d5) + 2(Jy3 + Azd3)

+—>

B

Jx; = 186.67 + 506.67 + 2 - 202.67 = 1098.68cm*

11

H =10cm,B = 2cm
(H=5B) (analogamente per il calcolo di J, )



Sx
H vo == AG
s _ Sx _ le +Sx2 + ZSX3
: Y6 T A T TA ¥ A, + 24,
A =24, + 24,

H
Sx1 = (BH) - = 100cm?

B
Sv>; = (BH) (H + E) = 220cm?3

Sxs = (B 2B)ys = (2B%) (B +2) = 383 = 24cm?

Sy 100+220+2-24 320+48 368

H = 10cm,B = 2cm Y6 T AT T 40+2-(8) 40+ 16 56
(H=5B) = 6.57cm




H | Yo = 6.57cm A@

1B Jxg = U1 + A1d7) + Uy + A2d5) + 2(J,3 + A3d3)

+—>

B

Jx; = 215.96 + 399.16 + 2 - 104.63 = 760.75cm*

13

H =10cm,B = 2cm
(H=5B) (analogamente per il calcolo di J, )



A7

S _ le + sz + ZSX3

YG—Z
X
A AL+ A, + 245

G =

A =24, + 24,

H
Sx1 = (BH) - = 100cm?

B
S«z = (BH) (H + E) = 220cm?3

Ses = (2B - 2B)y; = (4B%)(B) = 4B3 = 32cm?

+—>

: Sy 100+220+2-32 320+64 384

H = 10cm,B = 2cm Y6 = 40+2-16 40 + 32

72
(H=5B) = 5.33cm H



+—>

B

H =10cm,B = 2cm
(H=5B)

Yo = 5.33cm A‘?

]xG — (le + Ald%) + sz + Azd%) + 2(]x3 + A3d§)

HB3
Ty + (HB)

2B(2B)3
12

+ (2B2B)(y; — B)? = 21.33 + 177.42 = 198.75cm*

Jx; = 168.84 + 649.64 + 2 - 198.75 = 1216¢cm*

15
(analogamente per il calcolo di J )



